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Which technologies are commonly used for dynamic aggregations in big data environments?
Response:

A. Hadoop and MapReduce

B. SQL and relational databases

C. Python and R programming languages
D. Apache Kafka and Apache Spark

Answer: D

What is a usage transaction in the context of billing and subscriptions?
Response:

A. A record of a customer's subscription details

B. A summary of a customer's billing history

C. A unit of measure that represents a specific usage event

D. A calculation of a customer's total usage over a billing period

Answer: C

During which time period are typically the moderate electricity rates charged in a time-of-use pricing
scheme?
Response:

A. Peak hours

B. Off-peak hours
C. Shoulder hours
D. Non-peak hours

Answer: C
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You want to create Smart Grid Gateway (SGG) Payload Processing extendable lookup values. Which
Groovy Library Method would you configure in the User Exit Interceptors section?
Response:

A. Get Parser and Get Transformer

B. SOAPSNDR and RTHTTPSNDR

C. Initial Measurements and Device Events
D. Set Parser and Set Transformer

Answer: D

How are commands typically processed in an SGG SaaS solution?
Response:

A. By directly communicating with the devices using proprietary protocols

B. Through a graphical user interface (GUI) for command configuration

C. By leveraging machine learning algorithms for automated decision-making
D. By offloading the processing to external third-party services

Answer: A
Question: 6
What is the advantage of a usage subscription model for businesses?
Response:
A. It provides a predictable and steady revenue stream
B. It allows businesses to charge a premium for unlimited usage
C. It eliminates the need for customer support and maintenance
D. It offers more flexibility to customers in terms of usage limits
Answer: A

Usage transactions can contain date breaks. What is used to supply date breaks?
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Response:

A. Usage subscription BO

B. Requesting system or user input

C. Usage subscription type

D. Deferred monitor calculation algorithm

Answer: B

In the context of data analysis, estimation refers to:
Response:

A. Calculating summary statistics

B. Inferring population characteristics from sample data
C. Removing outliers from the dataset

D. Converting data into visual representations

Answer: B

Which device is typically used to measure temperature?
Response:

A. Ammeter

B. Voltmeter

C. Thermometer
D. Hydrometer

Answer: C

How are usage calculation groups and rules typically configured in a billing system?
Response:

A. By writing custom code or scripts

B. Through a graphical user interface (GUI)

C. By importing pre-defined templates or configurations

D. Through manual configuration by the system administrator
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Answer: B
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